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1. Solve.
-2<x+3<14
2. Solve and graph the compound inequality.

Xx+7< =5 o0r x+7>1

5
4x ——<—+3x
18 18

1
The solution is {x | x < 5}

The solution is {x | =5 <x <11 }.

The solution of the compound inequality is
{x|x< =12 0orx> -6}

Which of the following is the graph of the
solution of the compound inequality?

(Simplify your answer. Type an inequality symbol; then type an integer or a fraction.)

4. Solve.

2(5y —4) 253y +7)

Use set-builder notation to describe the complete solution.

43
{yly < —}
5

(Simplify your answer. Type an inequality symbol; then type an integer or a fraction.)
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5. Solve and graph. The solution is {x | x = 4 }.

(Simplify your answer.)
3x+14211 and 3x—152 -3

Which of the following is the graph of the
solution?
v

|
-~ I I

-5 10 5 0 5 10 15 20

| | | |
I I I T

-5 10 5 0 5 10 15 20

-5 10 5 0 5 10 15 20

-
<

6. Graph and write in interval notation. Choose the graph of the solution.

2<x<14 < f—— >

-5 0 5 10 15 20 25

|

-5 0 5 10 15 20 25

< —— >

-5 0 5 10 15 20 25

i ————

-5 0 5 10 15 20 25

The solution in interval notation is (2,14) .

7 Solve. The solution is {x [x < 0.8 }
(Simplify your answer. Type an inequality
—8x2—-64 symbol; then type an integer or a decimal.)

d
The equation P =1 +§ gives the pressure, P, in atmospheres (atm) at a depth of d feet in
the sea. For what depths d is the pressure at least 1 atm and at most 4 atm?

The solutionis {d | 0 ft<d < 99 ft}.
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9. Graph the inequality on a plane.

4y = 5x > 20

Use the graphing tool on the right to graph
the inequality.

r
(L 48 1216 20
=3 16
o 20
20-16-12 -8 4,31 4N8 12 16 20
8
-12
-1
2
YOU ANSWERED:
10. Solve the compound inequality. Which of the following represents the
solution of the compound inequality?
3x=3>—6 or 4x+9<13 x|x>=1}
x|x<1}

* . All real numbers

XD &

YOU ANSWERED: D
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L1

12.

Solve. Select the correct choice below and, if
necessary, fill in the answer box to complete
|7x—7|=—16 your choice.
X

The solution set is { }

(Type an integer or a simplified
fraction. Use a comma to scparate
answers as needed.)

* 2. The solution set is the empty set.
YOU ANSWERED: A

Graph the system of inequalities. Find the
coordinates of any vertices formed.

x+y<1
x—=y<10

Use the graphing tool to graph the system.

201612 8- 121620

¢
L

The coordinates of the vertex are

Al
9
27 2)
(Type an ordered pair. Type an integer or a
fraction.)

YOU ANSWERED:
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13. A bank offers two checking-account plans. Their Anywhere plan charges 15¢ per check
whereas their Acu-checking plan costs $1.56 per month plus 3¢ per check. For what
number of checks per month will the Acu-checking plan cost less?

Let n represents the number of checks. Select the correct choice below, and fill in the
answer box.

{ap> }

x5 {nn> 13}

{nn<"}

*0 A{nn<""}
YOU ANSWERED: D

14. Write interval notation for the set {x | — 8 <x < 8}.

Choose the correct interval.

[—8,38]
[—8,8)
Ve (-8,8]
(—8,8)
15. Simplify. The answer is 9|tr.

‘ — 36t2
4t
YOU ANSWERED: 9t

16. Write interval notation for the graph.

b f———

-0 9 8 r 6 5 4 3 2 1 0 1 2 3 4 5 6 7 8 9 10

Choose the correct interval below.
(5, %)
VE [, )
[5, ]
[5, 10)
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17.

18.

19.

20.

21.

22.

Solve. The solution setis {x | =55 < x < 71}.
x—8 ‘
<7
Find the intersection. Select the correct choice below and, if
necessary, fill in the answer box to complete
14,5,6, 7' m {3,5,7,9} your choice.
W

The intersection is { 5,7 }

(Use a comma to separate answers as
needed.)

The intersection is the empty set.

Solve. o 1 9
The solutionis (x| —— <x < — .
2 2
—6s2x-5<4 (Type an integer or a fraction.)
Solve. Select the correct choice below and, if
necessary, fill in the answer box to complete
|x —2]=20 your choice.
The solution set is { — 18,22 }
(Type an integer or a simplified
fraction. Use a comma to scparate
answers as needed.)
The solution set is the empty set.
Solve.
2y—2<6y—3

Use set-builder notation to describe the complete solution.
| |
S =
Yy 4
(Type an inequality symbol; then type an integer or a simplified fraction.)
Solve. Complete the solution set.

{x|x< =17 orx= 17}
x| =17
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23.

24,

Solve.

5x +8 <48

Solve and graph the compound inequality.

4x—9< -8 or x—821
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The solutionis {x |x < 8}.

(Simplify your answer. Type an inequality
symbol; then type an integer or a decimal.)

The solution of the compound inequality is

1
{x|x£ — orx= 9}.
4

(Type integers or fractions.)

Which of the following is the graph of the
solution of the compound inequality?

v

-10 -5 0 5

-10 -5 0 5

-10 -5 0 5

10 15 20 25
! ! ! ! 5
i i i i >
10 15 20 25
! ! ! ! !
i i i i >
10 15 20 25
10 15 20 25

-lo 5 0 5
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25.

26.

Graph the system of inequalities. Find the
coordinates of any vertices formed.

X +2y <14,
2x +y £10,
x =0,

y20 201612

Use the graphing tool to graph the system.

|'.
]

The coordinates of the vertex/vertices are

(0,0),(0,7),(2,6),(5,0) .
(Type an ordered pair. Type an integer or a
fraction.Use a comma to separate answers as

needed.)
201612 -8
\
A Y
i)
A
42 L8
A
| .«
2 7
YOU ANSWERED:

Graph the compound inequality. Write the

solution using interval notation. e ———— >

X<—5o0r x>5

6 -4 2 0 2 4 6
Worite the solution in interval notation.

(—0,=5)V(5,)
(Simplify your answer.)
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27.

28.

29.

30.

Find the union.

13,4,5,6,7} U {1,3,5,10}

Solve.

2x —5|< 14

Solve.

|x|=19

Solve. Then graph.

5x 245
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Select the correct choice below and, if
necessary, fill in the answer box to complete
your choice.

¥~ The union is { 1,3,4,5.6,7.10 }.

(Use a comma to separate answers as
needed.)

The union is the empty set.

The solution set is

9 19
X| —— £x< — .
2 2

(Simplify your answer. Type an integer or a
fraction.)

Select the correct choice below and, if
necessary, fill in the answer box to complete
your choice.

v The solution set is { 19,-19 }

(Type an integer or a simplified
fraction. Use a comma to separate
answers as needed.)

The solution set is the empty set.

Choose the solution.
(x| x<9} {x[x>9}
VO x| x29} x| x <9}

Choose the correct graph of the solution.

< ——— : >

7 8 9 10 11
v
} } H
< T
7 8 9 10 11
] } M
7 8 9 10 11
# ! -
T >
7 8 9 10 11




